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forad &

(v T H P YA G 1 T8 P Y97 TH-Uh 3% & & | 7% IR U I6g 379al
TH T HG |

(i) YT N F YA GEIT 4 & 6 F I 3-3 IFH F & | T I TIYT
30 I 7 37 8/

(vii) N7 37 & ¥¥T G&IT 7 G 18 & F¥T di1-di7 Al F & | FHH I TTHT
50 gl H 37 & /

(viii) 9FT 37 & Y97 Q&7 19 & 24 & J97 Fia9-9i9 37H & 8 | 599 I AT
70 G H 34 8 |

(ix) YT § & o7 §C41 25 & 33 & o7 JAVICHS B9 R ATEIRG Fglased] o7
g | I9% Y97 Uh 37 7 8 | 130 7T TR a9l § @ 379l Fac U qad
I9YH faHeT GAT 8 |

(x) YT T & §9T &I 34 T 36 F I¥7 JINTHE HIVIcT T STERT 1-31 37hl &
Y978 | 399 ST TR F 57 8 |

General Instructions :

(1) The question paper comprises two Sections, A and B. You are to attempt
both the sections.

(it)  All questions are compulsory.
(iit)  There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be
attempted separately.

(v) Question numbers 1 to 3 in Section A are one-mark questions. These are to
be answered in one word or in one sentence.

(vi)  Question numbers 4 to 6 in Section A are two-marks questions. These are
to be answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section A are three-marks questions. These
are to be answered in about 50 words each.
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(ix) Question numbers 25 to 33 in Section B are multiple choice questions
based on practical skills. Each question is a one-mark question. You are
to select one most appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.

K IRIIC |
SECTION A

1. T & ] § TgEAei el i ge ffau | 1

Write the number of covalent bonds in the molecule of ethane.

2. Trelt Sfa & 38 Sla-wspd 1 AW fafau S 3weht gafse 61 gig § dgrdl

A 2 | 1
Name the life process of an organism that helps in the growth of its
population.

3.  dfc forelt @@ sf@a % Jom Ut T W 10,000 [ ol Iqaed 7, al fgd™
It TR o Sfiai i fohat STl 3uctsy gRft ? 1

What will be the amount of energy available to the organisms of the pad
trophic level of a food chain, if the energy available at the first trophic
level is 10,000 joules ?

4.  id 3N I & (UL AU HU: 4/3 3R 3/2 | Al H19 T yhrar H
TA 2 x 108 m/s B, 1 (i) a4, (i) ST | TehTe1 <l =Tt iehicdd shifoTy | 2

The absolute refractive indices of glass and water are 4/3 and 3/2

respectively. If the speed of light in glass is 2 x 108 m/s, calculate the
speed of light in (i) vacuum, (ii) water.

5. T &l % o % Ugd B h &l GEI HRON shl eI IHET | Ieoi@ HIT Toh
fopell 141 o a1 1 UgMYA 3N WG BT IHeh I o &A1 H & a1
A o Tareed o foTg BTt =i fig e 2 | 2

List two main causes of the pollution of water of the river Ganga. State
how pollution and contamination of river water prove harmful for the
health of the people of neighbouring areas.
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What is b10d1vers1ty ? What will happen if biodiversity of an area is not
preserved ? Mention one effect of it.

7. T towrela o wEifeaic s 3 § e i % & TRk wlan $ g
§AT3T 3T i KT for 3 qdieror 8 fru A 2 | 3

List two tests for experimentally distinguishing between an alcohol and a
carboxylic acid and describe how these tests are performed.

8.  TUTE hl geidrgiH-Teirg TTRHT i ToaoT iU | weme 3 srferedior & fisror o1
Te afeen & fore foman smar 8 | 3muss fomm @ 5@+t & forw warea 3t 9y
= Thgror <1 ST A AR foRan ST Hehar B 2 3

Draw the electron-dot structure for ethyne. A mixture of ethyne and
oxygen is burnt for welding. In your opinion, why cannot we use a
mixture of ethyne and air for this purpose ?

9. T W@ P IR ‘Q AYHH Aad AR ok TH & Ed b HE: THE-1 N
TE-2 % UCH § | 3T MEIIRad @&l /quieHi 6l arfeieh o €9 H qor
@ﬁm: 3
(a) ﬁmﬁﬁg@%ﬁﬁm
(b) Sk TRHTURT T HTTH

(c) ! wrfeaes Y

(d) STl SoeRZ AT T Fgf

(e) b IT@TSSI o T

(f) 3T FARIES & g

Two elements ‘P’ and ‘Q’ belong to the same period of the modern periodic
table and are in Group-1 and Group-2 respectively. Compare their
following characteristics in tabular form :

(a)  The number of electrons in their atoms
(b)  The sizes of their atoms

(c) Their metallic characters

(d)  Their tendencies to lose electrons

(e) The formula of their oxides

63 The formula of their chlorides
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13.

14.

@m%aw%@w%mm%wwwwﬁ@mmw
gitehfora sht STl 2 |

Taking the example of an element of atomic number 16, explain how the
electronic configuration of the atom of an element relates to its position
in the modern periodic table and how valency of an element is calculated
on the basis of its atomic number.

Afireh ST % B: fafirse stftraremor & gt sAmET |

List six specific characteristics of sexual reproduction.

TURE T Bd 3 ? T HINT foh il SFF i Tt Stal | it ot e
Fafd H Ul i g fhd YR FHE &+ &l 7 |

What are chromosomes ? Explain how in sexually reproducing organisms

the number of chromosomes in the progeny is maintained.

forell TS & fOTT 9 TaTeed & IR HEw o fogatl i FET ST | §AR <
H frset 50 ot # S wTeed § gEatad (99 &7 § gUR g3 7, I 9§ foheal
3l % A fofey |

List four points of significance of reproductive health in a society. Name
any two areas related to reproductive health which have improved over
the past 50 years in our country.

Tcdh o U Teh-Ush 3TEW0T oohl, IRl shitoie fob ferforftaa fopm wepr Sfia
% foshra & 9T ® THTOT SR R B

(a)  GHST 37
(b) GHEYT AT
(¢) ShamgH

Explain with an example for each, how the following provides evidences
in favour of evolution in organisms :

(a) Homologous organs
(b)  Analogous organs
(c) Fossils

6t012
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(b)  WThideh ST (TH)
Explain the following :
(a)  Speciation

(b)  Natural Selection

16. Ifc IS U ITeh 94 hal i foog fara o1 geg & Hiean 3 9w # Bier
yfafers s@Tar 8, O 98 <UuT fohd YR @1 8 2 3194 I AT gfse & forw w
fortor 3 EifHT | 39 YRR & Tdur U: shaEl 3T = 39T foRT Ad B 2 3

If the image formed by a mirror for all positions of the object placed in
front of it is always erect and diminished, what type of mirror is it ? Draw
a ray diagram to justify your answer. Where and why do we generally use
this type of mirror ?

17. T o ThIUHE § T dicqd & ? 39 UNEeAT hl UEEdl ¥ AT shifsy foh
TS SR 1 T el F T 21 8 a1 AT b q9d qF ThH =
T BT @ | 3

What is meant by scattering of light ? Use this phenomenon to explain
why the clear sky appears blue or the sun appears reddish at sunrise.

18. Sa-frfirf ot sa-fefieuia qeref & s I% w1 T ISR
favgr fIvT | 39 @ omeal # ufads it g sAEe 9 g s s %
foru, =af ta-fetentfia eufire & fuem 6 T 39T Jehd B | 3

Differentiate between biodegradable and non-biodegradable substances
with the help of one example each. List two changes in habit that people
must adopt to dispose non-biodegradable waste, for saving the
environment.

19. HIEF QT UHTSh SHI & Th YR o AaU & | 398 o1 =ik & ? |IgH hi
s 1 gfshar w1 Tag d Ui T | JgH HSR I § @ h1 FAwior =
& A ? WIGAL I T H TAHTSIRT Bl ITAT DA & 309 o FHEAST hl
el SA 15T | 5
Both soap and detergent are some type of salts. What is the difference
between them ? Describe in brief the cleansing action of soap. Why do

soaps not form lather in hard water ? List two problems that arise due to
the use of detergents instead of soaps.
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(b) |G HIET & S 3 o I W o1 99 faiRgu &t

() o e,
Gi) ffed ewe =1 s g R |
T ST foh ATAT & IRN o WA YOT 1 91901 fohd TR BIAT 3 | 5

(a) Name the human male reproductive organ that produces sperms
and also secretes a hormone. Write the functions of the secreted
hormone.

(b)  Name the parts of the human female reproductive system where
1) fertilisation takes place,

(ii)  implantation of the fertilised egg occurs.

Explain how the embryo gets nourishment inside the mother’s

body.

21. HSA % YA 7 98 fohd TR gt R
(a) &0 U 3ForeT AT B F,
(b) o weqor Tores &9 & ST Bd & 2 5
How do Mendel’s experiments show that the

(a)  traits may be dominant or recessive,

(b)  traits are inherited independently ?

22. Toret < hl uar 9 7 A9 § 2 39k S.I. AT <hl IRt fafgu |

mwaﬁHAﬁTBgﬁiﬁWWW:+10cm3ﬁT—10cm
g | 3 QI oFl sl TRl fIRaT ST &ar STd i | 37 a1 § § fope oi| |
fopel fore 1 <1 @ 8 cm gl W W W IqeHT HAWE AR srrafeia fcfers
AT ? A I hI e o fIw weh fomtor o i | 5

What is meant by power of a lens ? Define its S.I. unit.

You have two lenses A and B of focal lengths +10 cm and —10 cm
respectively. State the nature and power of each lens. Which of the two
lenses will form a virtual and magnified image of an object placed 8 cm
from the lens ? Draw a ray diagram to justify your answer.
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. .Jem Wﬁ%%ﬁfaﬂl{{r WW%
ﬁg@%m@wm@ml

1S 4 cm AT (o7 20 cm BIH gl * TohEll 3T o8 & H&I & & e
w@l 3 | fors 1 @ 8 g 15 cm @ | Widfoes i wepta, fEufa o wEe [
HIT | 5

One half of a convex lens of focal length 10 cm is covered with a black

paper. Can such a lens produce an image of a complete object placed at a
distance of 30 cm from the lens ? Draw a ray diagram to justify your
answer.

A 4 cm tall object is placed perpendicular to the principal axis of a convex
lens of focal length 20 cm. The distance of the object from the lens is
15 cm. Find the nature, position and size of the image.

24, HHE 97 # veml URM w1 e fafew | 3@ 3 qw w1 am fafew s
FgrEEd § gEATHt Ui % dR-eR gEd 8 o HRU 39T BT 2 | WA ¥
fifgq sl 1 goase T@ e & foru fopd Wb & ol shl STTawaehdn Bidt
87

1er A et # sifqm dfh § 93 §U, sihag W o v B T T 4w
91 @ AT | S & et "Eied i uar = Iveid el | ewen i, foh e
TEc! Ufth H ST B3 I3 B A& ¥ AU HIe Sga1 AT ? THME qid &l
A Hie 378™ ¥ dedd o U dUR B TR | 379 31 ] sciehsie W foran
g3 T G@TE o O | A2 SEe e Weled | & % Hial-fual Sl 6o
wort fop o 3t & 31er™ < A1 1 wdiEn HE |

3T T % ged H, fmfarfea yei o 3w G 5
(a) o1& Topm gfee g & fifed B 2 39 QW & &g & T fohg Jehr
9 39 foRan ST § 2

(b) Torers HEleT SR oW g YeRia gedii &1 Iech@ hifT |
(c) M9 ToRIX ¥ & &l Mgk WRIc 3N HAWH % Jid T hasr

o o o
[pd JhIL Jhd hiHl =TT ?
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ISEHT, ..o that arises due to gradual weakening of the ciliary

muscles in old age. What type of lenses are required by the persons

suffering from this defect to see the objects clearly ?

Akshay, sitting in the last row in his class, could not see clearly the
words written on the blackboard. When the teacher noticed it, he
announced if any student sitting in the front row could volunteer to
exchange his seat with Akshay. Salman immediately agreed to exchange
his seat with Akshay. He could now see the words written on the
blackboard clearly. The teacher thought it fit to send the message to
Akshay’s parents advising them to get his eyesight checked.

In the context of the above event, answer the following questions :

(a)  Which defect of vision is Akshay suffering from ? Which type of
lens is used to correct this defect ?

(b)  State the values displayed by the teacher and Salman.

(c) In your opinion, in what way can Akshay express his gratitude
towards the teacher and Salman ?

o)
SECTION B
25. ¥ 39 UHIeH ST bl ol 3R it fofend o W Sied &, a9 s Y&
A B ? 1

(A) A foferd oa € @l & 3R e fofews @ma 81 S g |

(B) o ferens e g1 S1a1 @ 3R e forena e € @®ar 2 |

(C) T Toten® e 81 Srar 2@ 3R e forena ot 81 Sran 2 |

(D) o fofend T 81 ST & IR e fofews e & & 2 |

What do we observe on pouring acetic acid on red and blue litmus papers ?
(A) Red litmus remains red and blue litmus turns red.

(B)  Red litmus turns blue and blue litmus remains blue.

(C)  Red litmus turns blue and blue litmus turns red.

(D) Red litmus becomes colourless and blue litmus remains blue.
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(A) g sl G Tehid i =TI
(B) HTEH i 3G M
(C) WA <t AWHTE I &HAT ! TGMT
(D) HIEH % Y T FERAT BT

While preparing soap a small quantity of common salt is generally added
to the reaction mixture of vegetable oil and sodium hydroxide. Which one
of the following may be the purpose of adding common salt ?

(A)  To reduce the basic nature of the soap

(B) To make the soap neutral

(C) To enhance the cleansing power of the soap
(D)  To favour the precipitation of the soap

27. g B IR WEAGHI P, Q, R 3T S H, Ui § TN 4 mL g Il Aot
T P U Gifgaq gehe, Q § WA Tewhe, R H hicyem Hohe 3 ST
FRem Fothe i THAM HEAT HI T3® § Hiadl g | 38 I99q 98 Tk
W@t § AgA o oo & gaH "1 e 8 | s ot weAferi
Tefl-vifa feam w, o8 = & Wi for7 At § s 9 § 9T 1 geq

AT B ? 1
(A) P3IRQ

(B) Q3RR

(C) P,Q3RS

(D) P,R3RS

A student takes about 4 mL of distilled water in four test tubes marked
P, Q, R and S. He then dissolves in each test tube an equal amount of one
salt in one test tube, namely sodium sulphate in P, potassium sulphate in
Q, calcium sulphate in R and magnesium sulphate in S. After that he
adds an equal amount of soap solution in each test tube. On shaking each
of these test tubes well, he observes a good amount of lather (foam) in the
test tubes marked

(A) PandQ

(B) QandR

(C) P,QandS

(D) P,RandS
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L Hed:shdd

I &9 =

1. sfior

IV. WA

V. &

TTH U T UEEH T W g 1

(A) I, IIRIII

(B) 1L III 3R IV
(C) IILIV3IRV
(D) LI IV3RV

A student was asked to observe and identify the various parts of an
embryo of a red kidney bean seed. He identified the parts and listed them

as under :

I. Tegmen
IL. Testa

III.  Cotyledon
IV. Radicle

V. Plumule

The correctly identified parts among these are
(A) I, II and III

(B) IL III and IV

(C) III,IVandV

(D) LII,IVandV
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3 @ G
3T, WIhTehe, ITGTeh, Hell, THTE, e, THE 1
(A) 3T 3R e
(B) Hell 3R TSR
() fuvdt iR srtehg
(D) 3T 3R AT

Given below is the list of vegetables available in the market. Select from
these the two vegetables having homologous structures :

Potato, sweet potato, ginger, radish, tomato, carrot, okra (Lady’s finger)
(A) Potato and sweet potato
(B) Radish and carrot
(C)  Okra and sweet potato
(D)  Potato and tomato

30. I3 B I foRmerd s SANTTA § QU T e gUul S BiRH gl Fd
A THA T (M) GRI SRNTRIeT ohi gt Rasshi (W) &1 e Jidfers 98 (S)
T UTH HAT & | GUU S HihE GO WA B % [ W HHA-H gl A

=fgT ? 1
A\
M
W S M
(A) MW
(B) MS
(C) SW

(D) MW -MS
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he screen (S)” using the given concave mirror (M) to

determine its focal length. Which of the following distances should he
measure to get the focal length of the mirror ?

M
A S M
(A MW
(B) MS
(C) SW

(D) MW -MS

31. et B 9 = fou U sm@ H RIY STER T Hell-wild YEH Ted Wad
yfafers 9¢ (S) W BIhfdd wH & faw foreft Iie (X) &1 3w fovam | 3@

Ik (X) & faw=r 4 &t sem g | 1
X
S
k—— 8cm —

(A) %ﬁ%ScmWE@WWﬁF%I
(B) ¥% I 8 cm HIhH Gl 1 I GUUT 2 |
(C) ¥ itk 4 cm BT G T 3T 4 2 |
(D) % IRF 8 cm HIhH G 1 IqA <H 7 |
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building on a screen (S) as shown below in the
diagram. Select the correct statement about the device (X).

X

k—— 8 cm ——
(A) This device is a concave lens of focal length 8 cm.
(B)  This device is a convex mirror of focal length 8 cm.

(C)  This device is a convex lens of focal length 4 cm.

(D)  This device is a convex lens of focal length 8 cm.

32. g B Hid hl JATAHR Gl § Tht Tl ATell TR Tohtur 1 g7 3T
Hun o i o & e M wtar 8 | 98 T & Tcdsh = i i
Y IATHENE AT sadl 8 | JINT o 3T H, HAMA 1 v i W,
freafefaa o @ I grfaa frshs = g =g 2 1
(A Zi=Le<Zr
B) JLi< ZLe<Zr
C) Zi>ZLe>Zr
D) ZLi=ZLe>/Sr

A student traces the path of a ray of light through a rectangular glass
slab for the different values of angle of incidence. He observes all possible
precautions at each step of the experiment. At the end of the experiment,
on analysing the measurements, which of the following conclusions is he
likely to draw ?

(A Zi=Le<Zr
B) ZLi< Le<Zr
C) ZLi>ZLe>Zr
(D) ZLi=Le>ZLr
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Wﬁﬁﬂ%@ﬁﬁﬁﬁqmﬁwﬁﬁwwam? 1
(A) ffa fereor amafaa fereor < wmT=aR Bt R |

(B)  fia fertor stmfaa fepeor i feem @ foreft =T W g STl 2 |

(C) Tria foror 3R srvafda foptor Teh-gal & EHeIT ST & |

(D) forta forror smafoa fomor & areaq 2t 2 |

A student traces the path of a ray of light through a triangular glass

prism for different values of angle of incidence. On analysing the ray
diagrams, which one of the following conclusions is he likely to draw ?
(A) The emergent ray is parallel to the incident ray.

(B) The emergent ray bends at an angle to the direction of the incident
ray.

(C) The emergent ray and the refracted ray are at right angles to each
other.

(D) The emergent ray is perpendicular to the incident ray.

34. & Y Ush Gl H VHiTH A Aot 390 HIfSTH BISSIoH el Hard
&, a9 90 g g Jegeree & Wy His 19 Feherdt 8 | 38 | % 9w fafaw
39 g o wdieur 1 fafe =1 9oia Hifv | 2

When you add sodium hydrogen carbonate to acetic acid in a test tube, a
gas liberates immediately with a brisk effervescence. Name this gas.
Describe the method of testing this gas.

35. BE ¥ A ° gopod & ot =won 1 guria areft Temft warget w1 gemesf
I gHAT § Y& S % T e T |
(a) TATSSI Wl BIhE i oh [oTC TTh! F&H FHIIISH U] §& FHRINSH H
T fope g o fofw et I 2
(b) %< H YpoH I Hal HH H GIIH & [oTC diF NG T | 2

Students were asked to observe the permanent slides showing different
stages of budding in yeast under high power of a microscope.

(a)  Which adjustment screw (coarse/fine) were you asked to move to
focus the slides ?

(b)  Draw three diagrams in correct sequence showing budding in
yeast.
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. LY Tm ﬁ 24 cm gl 3R 39 %ﬁt Calkitaul

Q

uﬁﬁwwﬁmwwé|maﬁwﬁwaﬁéﬂﬁwqém,ﬁ
fors =1 fteor fafers o€ R aed w0 & foIw ue vt fomm foem & (efa
HI YT < H Q) o T B ? Gfiforrs o STaUT 9 3Ehl R UWE B 2 2

A 4 cm tall object is placed on the principal axis of a convex lens. The

distance of the object from the optical centre of the lens is 12 cm and its
sharp image is formed at a distance of 24 cm from it on a screen on the
other side of the lens. If the object is now moved a little away from the
lens, in which way (towards the lens or away from the lens) will he have
to move the screen to get a sharp image of the object on it again ? How
will the magnification of the image be affected ?
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